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ON VOIR

ON ETRE

ON VENIR

TU AVOIR

TU METTRE
VOUS LIRE

TU DEVOIR

ON DEVOIR

TU POUVOIR
NOUS FINIR
NOUS VENIR
VOUS ETRE
VOUS PARLER
TU ECOUTER
ELLES PARLER
VOUS PRENDRE

French 2: Imparfait: All Verbs
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TU DIRE
ON NAGER

TU ETRE

TU VENIR

ON VENDRE

TU DORMIR
VOUS DIRE

ON PARTIR
NOUS VIVRE

TU CHANTER
VOUS VIVRE
VOUS AVOIR
VOUS PARTIR
NOUS CHOISIR
VOUS CHANTER
VOUS VOYAGER

W H4HITnm>» —2>»>—ONMONMMC>»=>>mMmMD>

—_— — 0T un<KunuIvdZ2ZO0o0mMmmMm< 4204« — 3T

—rmnoOo-0>»r<0<>»-—494>»7T0O0 IO
< NS<OmMm>»C-mM=<D>» —-<T>»C-—>0
< mZ>» — 49T 40 4A< M-+ —T2>X»M-— &
< MZ0>» — 4 4 M>NM-< > —NWAR
I 10 —-—=<U0U>» Or—mMNTT—0OX>»wn®T A
O UV mMZ—-—MNOI>>»ZAH4—02Zw0mWZSsSTES

ON LIRE

TU JOUER

TU NAGER

ON AVOIR

ON PARLER

TU PARTIR

TU PERDRE
VOUS FAIRE

ON VOYAGER
NOUS AVOIR
VOUS ALLER
VOUS DEVOIR
NOUS VENDRE
NOUS CHANTER
VOUS ECRIRE
NOUS ATTENDRE
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